i Sy HT R oo
Al o
(wriarf) BRESHY /F—LER
=
YRR B
1. BEHOTREEDOEE
BTEH! fEHzn | EEMmE | - B T BHEHE A==
[/ s T EEFHA %
Tuiavg (FA)| (B/m-89)| (£ (62:229) Efif BE]
562.2 B — BRI
3LDK : | AR H22.68
234 | 3 AL i
2. JAiD s 7E i
FTTEH [HHEY | EEMmE =R T HH@EH A==
i/ s e FEti4E A F%
vyav (FA)| (B/nd-f0| (EEH (5745 EE D] '
107,629 $52.88 63.1811 g8
3LDK | 6,800,000 4.86nf 5/5MEHE H22. 48
355,79817] 334 19.11£F
i 126,488 | 552.68 67.20m EEE
- | 1SLDK| 8,500,000 6.47m B3] /115 H22. 6 8
118,142 334 20.328F /N =y i
264,589 H8.5H 68.03nf BiEs
2LDK | 18,000,000 6.61mf il 4/140E 8 H22. 38
874,674 145 20.57FF
398,671 H6.3H 72.241f #60mt BEd
3LDK |28,800,000[7 =T 3] 4/5pbRE H22. 68
1,317,92011] 1652 21.858F = T =
®
3. IO G| =45
BiEHD U] b i} T | Apaz— 3
MEY | I B HHEH /g ;ﬁ;é’]ﬁ‘j‘ﬁifﬁﬁﬁ =
wuvard (FE)| (M/od-39)| (FEFEH (FFED ki BES el
111,607 $52.6 B 67.20nf YRy 2245 16 A |22 5
3LDK | 7,500,000 6.47nf 3] 2/111%E
368,948M 154F 20.325F 173 F 78075 1
135,417F $52.6 A 67.20mi TERL22EED A 26 B [n-Tn naz-
2LDK 9,100,000/ 6.47mf ] 4/11 08
447,658 154 20.325F 378 FE95075 11
133,920/ $52.6 8 67.20mf k222270 (225
3LDK [ 9,000,000/ 8.73nf 4 4/11p5%
442,739 154 20.328F 23 ] #1950 73 1)
166,519(1 $63.7 67.86m ERE214E8 R 31 B [Mave 4
3LDK | 11,300,000 #11nt 3] 1/4PE%E
550,477 224 20.528F 178 FENTI28077 1
220,212 | S61.12.8 76.29nd FREe24E1 B30 0 |H AR
3LDK | 16,800,0004 59.80nf | FETH 3/8Mk ke
727,9741] 244 23.075F 2 B HE680 7711
4. FEHIP (¥
FTTEH Y | A EMRE Hi1ff T HE@EE niaz—
o/ e e A k=
A (FHED)| (H/od-5)| (5440 (622-4) g A&
@
@




